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  كاتهورحمة الله وبر  السلام عليكم

 ( 012: آل عمران ئا  يْ كيدُهم شَ هم  ر  ضُ يَ  لَ وَإِنْ تَصْبِِوُا وَتَ ت َّقُوا         (    
 
 I think   يَضُر  being جواب الشرط should be مجزوم  but it looks like it is 

  .مرفوع
 
What is the مجزوم form of   يَضُر ?     
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عليكم السلام ورحمة الله وبركاتهو   

 
As you know, the  ُفعَّ ضَ م  verb when مجزوم cannot take  ُونكُ س  because the 

last letter is  ُددَّ شَ م . So it takes a  َ ةحَ تْ ف  to avoid  ِالتقاء الساكني. But this is 
done mostly. Theoretically, it can take one of the three vowels.  
 
In this aayah, it takes the  َةمَّ ض . This  َةمَّ ض  is not the  َةمَّ ض  of إعراب, but a 

vowel to avoid  ِالتقاء الساكني. 
 
Hope this is clear. 
 

Regards, 
 والسلام
abdur rahim 
 
 

 

 

                                        FaDiilat al-Shaykh Dr V. Abdur Rahim حفظه الله replies: 


